


31 %90 gw: 5«545(—2)? o~ [O)ﬂ

,SVLK) - §% - Gy

'[’30 A K
=7 ﬁ\h e i

x=*"

- “{ )
la M~ X= 9 >{)
)

L —

__ o
52(0) -

‘p(t”_,5<-5_%ux ZC& =93
5(5): Sesyn-23 = |13 & T

KILaszS o P obs mis
Ln:\lb G e by e

{j gép )4-||/)< C EO.’L)\J\l
/
|
/ 2 _
y(\()/ ("X = (’ -
P
gl—_o l—'_(_ - O
x* I
' | ;(02'\ = 2+ 22 =
=L
R }cm == 2
x.,
= Yt = %
;l(: \\A_(bu.’n&»”‘w"() ;C({) t

loME: X=O e(omr&, tdrval) -2 © Hee

" (—~o

)

,Y/(,L\l 32 > ’«'\9 X



"H:Z?' ‘87(() - 10 b -V/(szz/ 'G)r

 feocre
A" -

(cy = -\

gy — (O
—[I’(cﬁ - )C—?_

(_Ct)—-\’o
22 T
Ge [uyy-1eo

%o jU{\ > \G

| & xe &



